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Math 7 - Chapter 5 & 6 Review 2 Worksheet
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Define the following terms using complete 15
sentencesn problems 1-7. '
Ratio
Rate
Unit Rate
Proportional Relationship 16.
Non-Proportional Relationship 17.
Proportion 18.
Percent Proportion 19.
Sarah rides her bike 6 kilometers south to her 20.
friend’s house. Then she rides 4 kilometers west|to
see her uncle and finally reaches home 3 kilome{ers
east of her uncle’s house. What is the ratio betwge 21
the distance traveled west and the distance trdvele
south by Sarah? 22
Find each unit rate for problems 9-10. Round to
the nearest hundredth if necessary. 93
29 gallons for 3 minutes
$9.25 for 18 pounds
A grocery store sells 5 cans of soup for $2uad
12 cans of soup for $8.40. Is the cost of the soup
proportional to the number sold? Explain why or
why not. 24.
Lauren recorded the sprint times of her sisedr 25.
what rate would Lauren’s sister have to run 60 26.
meter-sprint in order to keep the relationship
between the distance and time proportional? 21.
Time (seconds) 2 |124] 28| 3.2
Distance (meters) | 25| 30| 35| 40
6_3

Solve.V =11

_ 28.
SOIVe:l_4 = 7 29.

Six out of every ten families eat at a restaure

twice a week. If 46,900 families in a certain city

eat at a restaurant twice a week, how many families
do not eat a restaurant twice a week?

Find each missing value for problems 16-19.

18% of 50 is what number?
32 is 0.4% of what number?
16 is what percent of 50?

45% of what number is 547

Jack has completed 62.5% of the 40 questions on
the test. How many questions has Jack completed?

Find the percent of change from 27 miles to 53
miles. Round to the nearest whole percent.

Last year, Sandro bought a book for $13.89 Thi
year the same book cost $15.79. What was the
percent of change?

The regular price of a new bicycle is $275 ted
sale price is $230. Find the percent of decrease to
the nearest whole percent.

Find the total cost or sale price to the nearest
cent for problems 24-26.

$11.35 meal; 18% tip
$34 helmet; 25% discount
$2,500 jet ski; 30% discount; 6.5% tax

Find the total cost of a oil change of $32uahg
7% tax and 20% tip.

Find the simple interest paid to the nearest cent
for problems 28-29.

$1,230, 6%, 3 months
$85, 4.5%, 3 years
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30. Mrs. Doubtfire deposited $1750 in a savings
account. Her account earns an interst rate of 1.5% '

31.

32.

33.

If she does not deposit or withdraw any money
from the acount, how much will Mrs. Doubtfire

34

have in the account at the end of the eight months?

Ohm'’s law states that the potential difference
(voltage across a conductor) is directly propodion
to the current. The graph shows the potential
difference across two conductors when currents
different strengths are passed through them.

Express each conductor’s resistance as a unit rgte.
How much current should be supplied so that both

the conductors have 512 volt?
Conductor II

/

Conductor I

/

Voltage (V)

—ttt—t————+—
1 2 3 4 5 6 7 8 9 10
Current (in ampere)

Problems 32-36: Determine whether a
proportional relationship exists between the two
gquantities shown in the graph or table below.
Explain your reasoning.

Time (h) Temperature (°F)
X y
0 52
1 54
2 56
3 58
Time (h) Distance (mi)
X y
1 200
2 150
3 100
4 50
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Weight (1bs)

Price (in dollars)

Water Level (ft)
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